=2V

ITponeHTsI ynces (OTCYTCTBYIOILEE YUCIIO)

Nwms:

x 80% = 69.6
x20% = 14.4
x 30% = 25.5
x 70% = 59.5
x20% =6

x 40% = 36

x 10% = 8.4
x 10% = 6.3
x 60% = 43.8
x 10% = 1.5

www.snowmath.com

Jara:
x 40% = 25.2
x 90% = 27.9
x 10% = 6.6
x 50% =47
x 60% = 2.4
x 90% = 47.7
x30% = 1.8
x 50% = 27.5
x 50% = 9.5
x 70% = 56.7

Orenka:



https://www.snowmath.com

ad Lo 14

[TporieHTs! uncen (0OTCYTCTBYIOIIEE YHCIIO)

Nwms:

87 x 80% = 69.6

72 x20% = 14.4

85 % 30% = 25.5

85 x70% = 59.5

30 x20% = 6

90 x 40% = 36

84 x 10% = 8.4

63 x 10% = 6.3

73 x 60% = 43.8

15x10% = 1.5

63 x40% = 25.2

31 x90% = 27.9

66 < 10% = 6.6

94 x 50% = 47

4x60% =24

53 x90% = 47.7

6 % 30% = 1.8

55 x50% = 27.5

19 X 50% = 9.5

81 x70% = 56.7

www.snowmath.com

[ara:

Oruenka:
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